S OINIA A

GB

PL
HU
RU
BG
ES
FR
RO
SK
Cz

MOUNTING INSTRUCTIONS FOR THE SONATA HANDLE
MONTAGE DES HANDGRIFFS SONATA

MONTAZ UCHWYTOW SONATA

KAPASZKODO SZERELES SONATA
YCTAHOBKA PYYEK SONATA

MOHTAX HA IPBXXKU SONATA

MONTAJE DEL ARZON SONATA

MONTAGTE DES POIGNEES SONATA
MONTARE A MANERULUI DE LA CADA SONATA
MONTAZ MADIEL SONATA

MONTAZ MADEL SONATA




(0) = @4x




MOUNTING INSTRUCTIONS
FOR THE SONATA HANDLE
CONTENTS OF THE MOUNTING KIT - HANDLE <<—>>
SONATA handle 2 pcs '
Galvanized screw M8x35 4 pcs
g:fv'\;lgized washer i Sg: — l

This type of bathtub has been prepared by the manufacturer with pre-drilled holes for the installation
of ahandle and headrest.

The handle must be mounted before installation of the bathtub.
It cannot be mounted afterwards!

In the center of the side part of the bathtub there are 2 x 2 pre-drilled openings (9mm in diameter) for
the 2 parts of the handle.

With the flat side up, place the handle against the pre-drilled holes. It should be seated to follow the
shape of the bathtub.

After finding the proper position, check that the holes in the bathtub coincide with the holes in the
handle. Ifnot, the handle can be slightly pressed into the proper position.

Before final placement of the handle, place a small amount of silicone on the outer side of the holes,
under the washers. Put the handle in place and tighten the M8 screws and washers from the under
side of the bathtub. Tighten the screws normally. Over-tightening of the screws can cause
deformation of the handle.

RAVAK a.s., Obecnicka 285, 261 01 Pfibram 1, CR
tel.: 318 427 111, 318 427 200, fax: 318 427 269, 318 427 278, e-mail: smith@ravak.cz, www.ravak.com

The manufacturer reserves the right to change the price, technical parameters or other facts without
a prior notice and shall bear no responsibility for the printing errors.



MONTAGE DES HANDGRIFFS
SONATA

INHALT DES MONTAGESATZES - HANDGRIFF

Handgriff SONATA 2 St.
Verzinkte Schraube M 8x35 mm 4 St.
Mutter M8 4 St.
Verzinkte Unterlagscheibe 4 St.

Dieser Wannentyp ist durch den Hersteller flir die Anbringung von Handgriffen und einer Kopfstitze
in die vorgebohrten Offnungen vorbereitet worden.

Die Handgriffe werden vor dem Einbau der Wanne montiert,
eine zusatzliche Montage ist nicht moéglich!

Im mittleren Teil der Wannenseiten sind 2 x 2 Offnungen @ 9 mm fiir 2 Stiick Handgriffe vorgebohrt.
Den Handgriff mit der flachen Seite nach oben gegen die aufgebohrten Offnungen legen. Die
Aufsitzflachen missen die Wannenform kopieren.

Nach Uberpriifung der richtigen Position kontrollieren, ob die Offnungen in der Wanne mit den
Offnungen im Handgriff ibereinstimmen, eventuell den elastischen Handgriff nachformen.

Vor der definitiven Befestigung des Handgriffs von der AuRenseite um die Offnung unter die
Unterlagscheibe Silikonspachtel auftragen. Den Handgriff anlegen und von der Aufenseite mit den
Schrauben M8 mit Unterlagscheibe befestigen. Die Schrauben mit angemessener Kraft anziehen,
damit es nicht zu einer Beschadigung des Handgriffes kommt.

Ravak Gesellschaft fiir Sanitarprodukte mbH, Alexanderstrasse 58, D - 45472 Miilheim an der Ruhr
Tel. (0208) 37789-30 Fax. 0208 37789-55, www.ravak.de, e-mail: info@ravak.de

Der Hersteller behalt sich das Recht auf eine Anderung von Preis, technischen Parametern oder weiteren Tatsachen
vor ohne vorherigen Hinweis und tragt keine Verantwortung fiir Druckfehler.



MONTAZ UCHWYTOW SONATA

ZAWARTOSC ZESTAWU MONTAZOWEGO <>

Uchwyt Sonata 2 szt.

Sruba ocynkowana M8 x 35 4 szt.

Sruby M8 4 szt.

Podktadka ocynkowana 4 szt. < l

Wanna Sonata jest przygotowana przez producenta do montazu uchwytéw i zagtéwka.

Uchwyty nalezy zamontowa¢ przed zabudowaniem wanny,
pbzniejszy montaz nie jest mozliwy.

W $rodkowej czesci boku wanny wywiercone sa 2 x 2 otwory & 9mm. Przytozy¢ uchwyt tak, aby
gwintw uchwytach odpowiadat otworom w wannie. Miejsca styku musza kopiowac ksztatt wanny.

Przed ostatecznym zamontowaniem uchwytu nalezy od zewnetrznej strony wokot otworu (pop
podktadka) nanies¢ silikon. Przytozy¢ uchwyt i dokreci¢ go srubami z zewnetrznej strony wanny.
Nalezy pamieta¢ o uzyciu podktadek. Sruby dokreci¢ z wyczuciem aby nie doszto do deformac;ji
uchwytow.

RAVAK POLSKA s.a., Kateczyn 2B, 05-825 Grodzisk Mazowiecki, POLSKA
tel.: 22/ 755 40 30, fax: 22 / 755 43 90, e-mail: ravak@ravak.pl, e-mail: info@ravak.pl, www.ravak.pl

Producent zastrzega sobie prawo do zmiany ceny, paramatréw technicznych itp.
bez uprzedniego informowania i nie ponosi odpowiedzialnosci za btedy w druku.




KAPASZKODO SZERELES
SONATA
SZERELOKESZLET TARTALMA <—>
SONATA kapaszkodod 2 db
M8 x 35 cinkezett csavar 4 db
Anyacsavar M8 4 db
Cinkezett alatét 4db <> l

Ez a kadtipus a kapaszkodok felszereléséhez el6refurt lyukakat tartalmaz.

A kapaszkododkat a kad beépitése elétt kell felszereni,
utolagos felszerelésiik nem lehetséges!

Akadfal k6zépso részén 2 x 2 elérefurt @ 9 mm nyilas talalhatéd 2 darab kapaszkodé szamara.
Helyezze a kapaszkodokat lapos feliikkel felfelé az elérefurt nyilasokhoz. A kapaszkodd simuljon
akadfalhoz.

Ellendrizze le, hogy az elérefurt lyukak és a kapaszkodén levé nyilasok egaybeesneke,
amennyiben nem, a hajlékony kapaszkodoét alakitsa ugy.

A végleges felszerelés el6tt tegyen kivilrdl a nyilasok kore szilikonos témitét az alatetek ala.
Helyezze a helyére a kapszkodokat és rogzitsa az M8-as csavarral és az alatéttel 6ket. Ugy hizza
meg a csavart, hogy ne deformalédjon tulsagosan a kapaszkodé.

RAVAK - Hungary Kft., 1142 Budapest, Erzsébet Kirdlyné atja 125, HUNGARY
Tel.: 06(1) 223 13 15 - 16, Fax: 06(1) 223 13 14, e-mail: info@ravak.hu, www.ravak.hu

A gyarto fenntartja az ar, a miszaki paraméterek ill. egyéb adottsagok elézetes figyelmeztetés nélkiili
megvaltoztatasanak jogat, tovabba nem visel felelésséget a sajtohibakért.



YCTAHOBKA PYYEK SONATA

MOHTAXHbIA HABOP - PYYKU

Pyuyka SONATA 2wt
BonT M8 x 35 oLuMHKOBaHHbIN 4 wr.
[avika M8 4 wr.
LLlain6a ounHkoBaHHas 4 wr.

OTOT TVIN BaHHbI npounssoguTenem npuroToBsneH Ana yCTaHOBKU py4YeK 1 NOArofioBHWKa B 3apaHee
Ha 3aBOe BbICBEPJIEHHbIE OTBEPCTUA.

Py‘-IKVI yCcTaHaBIMBaKTCA 4O MOMEHTa OKOH4YaTenbHOMn YCTaHOBKMU
BaHHbl, MOHTaX UX NOCJ1Ie YCTAHOBKU BaHHbI HeBO3MOXeH!

B cepenvHe 60k0BOI YacTV BaHHbI BLICBEPIEHbI 2 X 2 0TBepCTUS @ 9 MM ANs 2 WTYK py4ek.
MpunoxwTe py4vKky NNOCKOW CTOPOHOM BBEPX K BbICBEPNEHHbIM OTBEpCTUAM. KOHTakTHble
NnoLaan py4kn JOMKHbI TOYHO KONMPOBATE MOBEPXHOCTb BaAHHbI.

[MpoBepbTe coBnageHne OTBEPCTUN B BaHHE C OTBEpPCTUsSIMM B pyyke. B cnyvae Hapo6HocTM
OTKOPPEKTUPYINTE (DOPMY PYHKM.

[0 MOMEeHTa OKOHYaTEeNbHOW YCTaHOBKM PYYKM C BHELLUHEW CTOPOHbI BaHHbI MO MEPUMETPY
OTBEPCTUI HAHEeCWUTEe TOHKWI CIIOW CUIIMKOHOBOTO repmeTtuka. MpunoxuTe pyyky M C BHELUHeWn
CTOpOHbI NpuUKpyTUTE ee GonTom M8 c warbon. Kpytute ¢ npumeHeHnem HebonbLLIOW CUmbl,
4YTOObI HE MOBPEAUTL PYUKU.

& 2
")
PO
@”.

000 RAVAK ru, ul. Staropetrovskiy pr. 7A, Moskva 125 130,
tel./fax: 007 495 710 82 83, 007 495 450 12 77, e-mail: ravak@inbox.ru, www.ravak.com

MpouasoauTenb OCTaBSIET 3@ COBOIN NPABO Ha U3MEHEHIE LieHbI, TEXHUYECKIX NapaMeTpoB N1Bo Apyrux haktom 6e3 NpeasapuTenLHOro
YBE[IOMEHMS 1 He HECET OTBETCTBEHHOCTL 3a TUNOrpachcki1e OLIMBKA.



MOHTAX HA OPBXKU SONATA

CbABbPXAHUE HA KOMIMJIET 3A >
MOHTAX - OPBXXKU
Hpwbxka SONATA 2 6p
Bont M8 x 35 noumHkoBaH 4 6p
BuHT camonpo6breeH M8 4 6p —
Mopnoxka nouMHkoBaHa 4 6p

To3u TN Ha BaHa € NPUrOTBEH OT NPOWU3BOAUTENS 3a MOCTaBSIHE HAa APBXKM U Ha obnerarka 3a
rnaea B NpefBapuUTENHO NPOGUTH OTBOPU.

D,p'b)KKVITe ce MOHTUpaT nNpeagun BrpaxaaHeTto Ha BaHaTta,
OOMbI/IHATENTHA MOHTaX He e Bb3MOXHa!

B cpegHaTa 4acT Ha CTpaHWYHUTE YacTy Ha BaHaTa MMa npeaBapuTeniHo nNpobuTn 2x2 oteopa
@ 9 MM 3a 2 6p ApwbxkKW. [lonpeTe ApbXKa C Nockata YacT Harope BbpXy Npobutute oTBOPMU.
Oonupawwm nnowwm Tpsibea aa konupat dpopmMa Ha BaHaTa.

Cnep kaTo n3npobsarte npaBuiHa Mo3uLMs, KOHTPONVMpanTe Aany nacsaTt OTBOPWTE Ha BaHaTa
C OTBOPUTE Ha ApbXKaTa, eBEeHTyanHo chopMmmupanTe roekaBaTa ApbxkKa.

Mpeau okoHYaTeNnHOTO 3akpenBaHe Ha ApbXKKaTa HaHeceTe OT BbHLUHATA CTpaHa OKOMo 0TBOpa
nog MOAMOXKA CUMMKOHOB yMibTHUTEN. [locTaBeTe APBXKUTE U OT BbHILHATA CTpaHa
v 3akpenete ¢ 6ontoBe M8 ¢ moanoxka. BonTose 3aTerHeTe ¢ ymepeHa cuna, 3a fa He ce
Aedopmupar ApbXKKUTE.

&

RAVAK a.s., Obecnicka 285, 261 01 Pfibram 1, CR
tel.: 318 427 111, fax: 318 427 269, e-mail: info@ravak.cz, www.ravak.com, www.ravak.cz

Mpon3soaUTeNsT c1t 3anassa NPaBoTO 3@ NPOMEHM Ha LIGHUTE, TEXHUYECKUTE NapameTpn Unn Apyru nogpoGHoCTI
6e3 NpeaBapUTENHO NPEAYNPEXEHNE U HE HOCI OTTOBOPHOCT 3a NEYaTHM rPeLLKu.



MONTAJE DEL ASA SONATA

CONTENIDO DEL JUEGO DE MONTAJE - ASAS <<—>>
Asa SONATA 2 pzas
Tornillo M8 x 35 galvanizado 4 pzas
Tuerca M8 4 pzas
Arandela galvanizada 4 pzas < l

Este tipo de barfiera esta preparado por el fabricante para que los arzones y la cabezera sean
fijados en orificios pretaladrados.

Los arzones deben ser montados antes del empotramiento de la bafiera,
la instalacion posterior no es posible!

En la parte central de las laterales de la bafiera estan pretaladrados 2x2 orificios @ 9 mm para dos
arzones.

Adjunte el arzén con el lado plano direccionando hacia arriba contra los orificios taladrados. Las
areas de contacto deben copiar la forma de la bafiera.

Después de probar la posicion correcta revise si los orificios en la bafiera corresponden a los
orificios en el arzén, eventualmente adapte la forma del arzén flexible.

Antes de fijar definitivamente el arzon aplique masilla de silicone en vuelta del orificio del lado
externo por bajo de la arandela. Adjunte los arzones y fijelos del lado externo usando tornillos M8
con arandela. Ajuste los tornillos usando una fuerza adecuada para no deformar los arzones.

& a
")
©

o”

RAVAK IBERICA S.L., Pol. Ind. Catarroja, Calle 31, No 609, 46 470 CATARROJA (VALENCIA), Espafia
tel.: 0034 961 264 357, fax.: 0034 961 264 443, e-mail: ravak@ravak.es, ravakcz@ono.com, www.ravak.es

El fabricante se reserva el derecho de cambiar el precio, parametros técnicos u otros hechos
sin aviso previo y no asume la responsabilidad por faltas de imprenta.



MONTAGTE DES POIGNEES
SONATA
ASSORTIMENT DE MONTAGE <
poignée SONATA 2 pcs
vis zingué M 8x35 mm 4 pcs
écrou M8 4 pcs —
rondelle zinguée 4 pcs = l

Ce type de la baignoire est adjusté pour le montage des poignées et de I'appui-téte dans les
avanttrou forés.

Il faut faire le montage des poignées avant l'installation définitive
de la baignoire, le montage ultérieur n'est pas possible.

Dans a partie centrale de parois de la baignoire, il y a deux avant-trous & 9 mm pour fixer les
poignées.

Mettez les poignées sur les avanttrous pour que la surface de contact de la poignée corresponde
avec la courbe de la baignoire.

Pour déterminer la position optimale, contrélez si les trous dans la baignoire correspondent avec
les trous dans la poignée. Le cas échéant, adjustez la poignée.

Avant de fixer définitivement la poignée, mastiquez de I'extérieur les endroits au-dessous des
rondelles. Fixez les poignées par les vis M 8 avec des rondelles (corrigez de menues incorrections
par le reforage des trous a @ 10 mm au maximum!). Serrez les vis avec précaution pour ne pas
déformer les poignées.

& 2
")
©

S

RAVAK a.s., Obecnicka 285, 261 01 Pfibram 1, CR
tel.: 318 427 111, fax: 318 427 269, e-mail: info@ravak.cz, www.ravak.com, www.ravak.cz

Tous droits du fabricant & la modification du prix, des paramétres techniques ou autres faits sans avertissement préalable réservés.
Le fabricant ne répond pas des fautes d'impression.



MONTARE A MANERULUI
DE LA CADA SONATA

KITUL DE BAZA PENTRU MONTARE

méaner SONATA 2 buc.
surub galvanizat M8x35 4 buc.
piulita M8 4 buc.
saiba galvanizata 4 buc.

Acest tip de cada este prevazut din fabricatie cu gauri pentru instalarea manerului si a tetierei.

Manerul trebuie montat inainte de instalarea cazii.
Nu poate fi montat dupa !

In centrul partii laterale a cazii se afla 2x2 deschizaturi (9 mm diametru) pentru cele doua parti ale
manerului.

Asezati manerul peste gaurile deja existente cu partea plata in sus. Trebuie sa il agezati astfel incat
saurmeze forma cazii.

Dupa ce gasiti pozitia corespunzatoare verificati daca gaurile cazii coincid cu gaurile manerului.
Daca nu, manerul poate fi usor apasat in pozitia adecvata.

Inainte de agezarea definitiva a manerului, puneti o cantitate mica de silicon in partea exterioara
a gaurilor, sub saibe. Potriviti manerul si strangeti suruburile M8 si saibele de pe cealalta parte
a cazii. Strangeti suruburile normal. Daca le strangeti prea tare puteti deforma manerul.

& 2
")
©

S

RAVAK a.s., Obecnicka 285, 261 01 Pfibram 1, CR
tel.: 318 427 111, fax: 318 427 269, e-mail: info@ravak.cz, www.ravak.com, www.ravak.cz

Producatorul isi rezerva dreptul de a modifica preturile, parametrii tehnici si alte date,
fara o avertizare prealabild, fiind responsabil pentru greselile de editare.




MONTAZ MADIEL SONATA

OBSAH MONTAZNEJ SADY - MADIEL

Madlo SONATA 2 ks
Skrutka M8 x 35 pozinkovana 4 ks
Matica M8 4 ks
Podlozka pozinkovana 4 ks

Tento typ vane je uz od vyrobcu pripraveny na osadenie madiel a podhlavniku do predvitanych
otvorov.

Madla sa montuju pred zabudovanim vane,
dodato¢na montaz nie je mozna!

V strednej Casti bokov vane su predvitané 2 x 2 otvory @ 9 mm pre 2 kusy madiel. Prilozte madlo
plochou stranou nahor oproti vyvitanym otvorom. Dosadacie plochy musia kopirovat tvar vane.

Po odskusani spravnej polohy prekontrolujte, ¢i suhlasia otvory vo vani s otvormi v madle,
popripade pruzné madlo dotvarujte.

Pred definitivnym upevnenim madla naneste z vonkajSej strany okolo otvoru pod podlozku
silikénovy tmel. Prilozte madla a z vonkajSej strany ich pripevnite skrutkami M8 s podlozkou
amaticou M8. Skrutky dotahujte primeranou silou, aby nedoslo k deformacii madiel.

& 2
")
©

S

RAVAK SLOVAKIA s.r.o., Sabinovska 5, 821 02 Bratislava,
obch. kancelaria: Stara Vajnorska 4, 832 55 Bratislava
tel.: 02 444 550 01, fax: 02 444 550 02, e-mail: obchod@ravak.sk, www.ravak.com

Vyrobca si vyhradzuje pravo zmeny ceny, technickych parametrov ¢i dalSich skutocnosti bez predchadzajuceho upozornenia
a nenesie zodpovednost za tlacové chyby.



MONTAZ MADEL SONATA

OBSAH MONTAZNI SADY - MADLA

Madlo SONATA 2 ks
Sroub M8 x 35 pozinkovany 4 ks
Matice M8 4 ks
Podlozka pozinkovana 4 ks

Tento typ vany je vyrobcem pfipraven pro osazeni madel a podhlavniku do pfedvrtanych otvoru.

Madla se montuji pfed zabudovanim vany,
dodate¢na montaz neni mozna!

Ve stfedni ¢asti boku vany jsou predvrtany 2 x 2 otvory @9 mm pro 2 kusy madel.

Prilozte madlo plochou stranou nahoru proti vyvrtnaym otvorim. Dosedaci plochy musi kopirovat
tvarvany.

Po odzkou$eni spravné polohy prekontrolujte zda souhlasi otvory ve vané s otvory v madle
pfipadné pruzné madlo dotvarujte.

Pfed definitivnim upevnénim madla naneste zvnéjsi strany okolo otvoru pod podlozku silikonovy
tmel. Pfilozte madla a z vnéjSi strany je pfipevnéte Srouby M8 s podlozkou a matici M8. Srouby
dotahujte pfiméfenou silou, aby nedoslo k deformaci madel.

&

RAVAK a.s., Obecnicka 285, 261 01 Pfibram 1, CR
tel.: 318 427 111, fax: 318 427 269, e-mail: info@ravak.cz, www.ravak.com, www.ravak.cz

Vyrobee si vyhrazuje pravo zmény ceny, icky U, ¢i dalSich Enosti bez predchoziho upozoméni a nenese odpovédnost za tiskové chyby.










rRAVAK

RAVAK a.s., Obecnicka 285, 261 01 Ptibram |
tel.: +420 318 427 200, 318 427 111 fax: +420 318 427 269
e-mail: info@ravak.cz, www.ravak.com

Version: 08 / 2008




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /SyntheticBoldness 1.000000
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002000d>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002000d>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /GRE <>
    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002000d>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e000d>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


